Linearized Comparison: display (d), print (p), and hue equal (e)
Hdisplay output = criteria (YES/NO):

L,=0%,dRGR,

Linearized ggﬂ:: ﬁ{fem,glngfgy hue®/p Linearized
display output  |H—e— equally Spldcedf_u/p —>-printer output

L,=2,5%,dRGB; no clipping? d/p Yn=2,5pRGB

Cinearized no smoothing?d/p
display output |-

L,=40%,dRGB,

only one display
of 3 for comparison

rgb*
. . image . :
Interpretation for any displayRGB Interpretation for any print
SRGB -> rgb* —> dRGB 'f‘ SRGB —> rgb*

(some new printers do this)
dRGB = dRGR SRGB ! N
dRGR (0<=i<=7) image]| Or calculatiorsRGB —> rgb*
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